Dear Parents,

Session 2018-2019 is progressing quite well. We just had our ‘Orientation Session’ with Primary, Middle and
Secondary schoolers parents and it was heartening to see your approach, co-operation and support. APS
family extends gratitude for it.

A warm welcome to students who have joined our school this session. We stand committed to providing
quality education to our children. The teachers follow a detailed plan of instruction that is guided by CBSE
and AWES. SAMC is our pillar of strength as our teachers focus on holistic development of our students. We
shall certainly continue to implement our ‘Systems Approach’ to support all students by using interventions
to help each child make academic progress. Progress is best assured when student, parents and school are
working towards same goal. It’s like when every player is an active member, the team is sure to be the best
and everyone is a winner. So let’s strive to be all winners!

For Summer Break Assignments, practice sheets are devised to ensure revisions for coming assessment.
Kindly go to the website: www.apsbinnaguri.org and follow these steps for the same

Steps to download:

i. Browse the website— Home page (first page of the website)
ii. Then check the Bulletin Board— link will be available.
OR

Home Page— Click on ‘APS News’ option— Choose Holiday Homework option from the dropdown
menu.

We would also seek your co-operation to help lift up academics. We would welcome parents to offer their
names for substitute facilitators/ teachers, judges for events round the year. Kindly e-mail at
apsbinnaguril@gmail.com or give your details at Front Desk.

We truly believe that an entire community is needed to empower our students to become successful citizens. I
look forward to a great year and working with such an amazing community.

Awaiting your constructive suggestions.


http://www.apsbinnaguri.org/
mailto:apsbinnaguri1@gmail.com
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ARMY PUBLIC SCHOOL BINNAGURI
ENGLISH PRACTICE SHEET — 1 SESSION 2018-19
SUB: ENGLISH
CLASS —V
Time: 90 Minutes Marks: 40

Date: From to

INSTRUCTIONS:
a) The sheet comprise of 3 sections.
b) Section A is based on comprehension skill.
c) Section B is based on grammar and writing skill.
d) Section Cis literature, consisting of answer in a word, answer in a sentence and answer briefly.

SECTION-A
Q1. Read the poem and select the correct option for the questions given:
As summer draws its final breath
to prepare its curtains call
the monarchs begin their epic trek
to usher in the fall.
The northern wind breathes out its chill
as songs begin to hush
and paints the trees upon the hill
with its artist’s brush.
From green to red, orange and brown
the trees discard their masks
and lay them gently upon the ground
for us to begin our tasks.
Autumn makes way for winter’s reign
we bid farewell old friend
till summer’s warmth begins to wane
and fall returns again.

a) Alliteration is a literary devices, that is identified with the occurrence of the same letter
or sound at the beginning of adjacent or closely connected words.

The example of alliteration in stanza 1 is:

i) final breath ii) curtains call
iii) epic trek iv) usher in the fall
b) What does the northern wind do?
i) breathes out chill ii) paints the trees
iii) becomes hot iv) begins to fall
c) Who discards the masks?
i) autumn ii) leaves

iii) trees iv) wind



d) Autumn makes way for:
i) summer’s arrival ii) rain’s arrival
iii) winter’s farewell iv) winter’s arrival
e) The ‘fall’ in the last line means:

i) autumn season ii) winter season
iii) spring season iv) summer season
SECTION-B

Q2. Rearrange these groups of words to make meaningful sentences:
a) and/in/quietly/Come/sit
b) often/to/movies/go/We/see
Q3. Circle the subjects and underline the predicates:
a) Honesty is the best policy.
b) Iread all the major articles.
Q4. Identify the followingsentences:
a) Look before you leap.
b) That’s a brilliant idea!
QS5. Fill in the blank with suitable collective noun:

a) A of cows was grazing in the field.
Q6. Write the singular of :
a) stories

Q7. Rewrite the following sentenceafter changing the gender:
a) The headmaster called my parents to talk about my progress.
Q8. Use an apostrophe to show possession in the given sentence:
a) the tail of an elephant
Q9. Write a paragraph on ‘The dream I saw--’
SECTION-C
Q10. Read the given extract and answer the questions:
a) All things bright and beautiful
All creatures great and small,
All things wild and wonderful
The good God made them all.
a) Pick rhyming words for the ‘Beautiful’
b) Who is the creator of all these things?
c) Pick a pair of opposites.
b) How it clatters along the roofs,
Like the tramp of hoofs!
How it gushes and struggles out
From the throat of the
Overflowing spout!
a) ‘hoofs’ means
b) ‘How it gushes . What is ‘it’ here?



c) What image is created when you read ‘from the throat of the overflowing spout’?

Q11. Answer in a sentence:

a) What is the term used in a sudden attack of illness when a person makes violent,
uncontrolled movement and often loses consciousness?

b) Give the name and occupation of Sahadeva.

c) Write the particular name given to a person who is qualified to treat diseased or
injured animals.

Q12. Give one word for the following :
a) to have a fixedexpression- showing no interest
b) a very wise man

c) slowly enter on a person’s territory, rights, etc.
Q13. Answer briefly

a) Why was Buck in danger?

b) What thoughts confused Buck that night?

c) Write the role played by Draupadi during exile?

d) Against whom did the Pandavas lose in the game of dice?
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ARMY PUBLIC SCHOOL BINNAGURI
ENGLISH PRACTICE SHEET — 2 SESSION 2018-19
SUB: ENGLISH
CLASS —V
Time: 90 Minutes Marks: 40
Date: From to

Instructions:

The sheet comprises of 3 sections.

Section A is based on comprehension skills .

Section B is grammar and writing skills.

Section C is literature , consisting of answer in a word , answer in a sentence and answer
briefly.

el NS

Q1. Read the poem and answer the question .
Green Giant

There lived a green giant whose name was Sans ,

His hair was the colour of strawberry jam.

He had one brown and one blue eye,

And a beard of colour of pumpkin pie.
His coat and pants were oh so bright,
Like a peppermint stick ,all red and white.
His socks were as yellow as lemon pop,
His shoes were as brown as a chocolate drop.
His hat was the colour of singer bread ,
With a tall , tall feather of raspberry red.

What colours and comparisons are used for the following?

COLOUR COMPARED TO
hair
i)
beard
ii)
coat and pants
iii)
shoes
iv)
Hat
V)
SECTION- B

Q2. Rearrange the groups of words to make meaningful sentences.
a) Often/ to/movies/go/We / see (statement)
b) pass/me/some/salt/Please (imperative)

Q3. Circle the subject and underline the predicate in the given sentences
a) On the table lay all her toys.



b) The Sun rises in the east.
Q4. Identify the kinds of sentence.
a) Don’t play in the rain.
b) A rainbow has seven colours.
Q5. Convert as directed
1. The damaged the trains. (mob/suite )
2. Ox (write the plural form)
3. The tail of an elephant ( use an apostrophe to show possession)
4. gander (write the feminine noun)
Q6. Write a paragraph on ‘Unity in diversity’.
SECTION - C
Q7. Give one word.
i) A small cube used in a game of chance.
ii) slowly enter on a person’s territory , rights,etc.
iii) a rapid movement of people to a newly discovered goldfield
Q8. Read the extracts and answer the questions that follow.
a) All things bright and beautiful
All creatures great and small,
All things wild and wonderful
The good God made them all.
1. Pick two words beginning with same sound /same letter in the extract.
2. Write two adjectives used for God’s creation.
3. How are the creatures made by God?
b) How it clatters along the roofs,
Like the tramps of hoofs!
How it gushes and struggles out
From the throat of the overflowing spout!
1. ‘clatters’ mean
2. Pick two words describing movement.
3. From where is it gushing?
Q9. Answer the following
1) Who was Manuel? What did he intend to do with Buck and why?
2) What sort of danger was Buck in ?
3) What did Uttar Kumar , the crown prince , do during the battle and why?
4) What was King Virata’s reaction when Pandavas revealed their identity?
Q10. Write down the antonym for each of the following words .
1) please 2) lost 3) perfect
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ARMY PUBLIC SCHOOL BINNAGURI
PRACTICE SHEET: 3
SUB: ENGLISH
CLASS —V
DURATION: 90 MINUTES
DATE : Time __ to

Instructions:
1. The sheet comprises of 3 sections.
2. Section A is based on comprehension skills .
3. Section B is grammar and writing skills.
4. Section C is literature , consisting of answer in a word, answer in a sentence and answer
briefly.

SECTION: A
Q1. Read the given passage and answer the following questions that follows.

I was counting down the seconds as I watched the clock. I didn’t even hear what the teacher was
saying. All I know is I was ready to leave. It was Friday I heard some chattering the background,
but I didn’t listen. All I could think about how good the food would be that night. I would order a
thick juicy hamburger and some fries with extra ketchup. All of the waiters loved me there. Finally
the bell rang . I jumped up and ran to my locker. A lot of papers flew out . I just stuffed them back
in, grabbed my things, and ran down the hallway . “Sarah”, I heard my teacher call,” Don’t forget
about ---“as I ran out of the door . On Monday I was back at school. “Oh, now we are having a test,”
I thought. How could I have known? The teacher handed out the tests. I didn’t know any answers to
the multiplication or division problems.

a) Why didn’t the child hear what the teacher was saying?
b) Write two things the child was thinking of ?
c) ‘Stuffed them back’ means
d) What was the teacher trying to say?
e) On what was the test?
SECTION: B
Q2. Rearrange the groups of words to make meaningful sentences.

a. you / sweets/ Did /buy/ me/ for (interrogative)
b. tolerate/much/so/I/ can’t/noise ( assertive)

Q3. Circle the subject and underline the predicate in the given sentences

a. My mother has a diamond necklace.
b. Someone was pushing the door.
Q4. Identify the kinds of sentence.
a. How tired I am!
b. I am feeling tired.
Q5. Convert as directed
a. The clapped after the performance. (regiment/ audience)
b. Shelf ( write the plural form)

c. the birthday of my sister ( use an apostrophe to show possession)

d. nephew (write the feminine noun)

Q6. Write a paragraph on ‘My Hobby’.



Q7.

. The scared writing of a religion b. an assistant to a political leader

Qs.

b)

SECTION: C
Give one word.

distress
Read the extract and answer the questions that follows.

He gave us eyes to see
And lips that we might tell
How great is God Almighty
Who has made all things so well.
i) Who gave us eyes to see?
i) Why is the God Almighty great?
iii) What are the other things that he has made?
In the board and fiery street ,
In the narrow lane,
How beautiful is the rain !

i) Name some places where the rain falls?
i) ‘broad’ means
iii) Pick two adjectives used for the street.

Q9. Answer the following

1) How did Buck’s mouth and neck get hurt and become sore?

2) Why did the stranger lie to the baggage man?

3) What did Duryodhana and his aides do to trouble King Virata?
4) Who saved the day for the King Virata’s army and how?

Q10. Write down the antonym for each of the following words .

1. reveal 2. wealth 3. spend
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c. felt pain or



ARMY PUBLIC SCHOOL BINNAGURI
ENGLISH PRACTICE SHEET — 4 SESSION 2018-19
SUB: ENGLISH
CLASS —V
Time: 90 Minutes Marks: 40
Date: From to

INSTRUCTIONS:
a) The sheet comprise of 3 sections.
b) Section A is based on comprehension skill.
c) Section B is based on grammar and writing skill.
d) Section Cis literature, consisting of answer in a word, answer in a sentence and answer briefly.

SECTION-A

Q1. Read the passage and complete the following:

It is not always easy in company to speak frankly and if you don’t want to be
considered a bad-mannered person, you have to watch constantly for signs. It is not, easy
for example, to listen for long to any one person. Try in company to take only a fair share of
the conversation. If there are two of you, take half of it. When you have said a little, keep
quiet, and give you friends a chance to say something. If he does not talk, he probably does
not want you to talk either. Many a young man or woman talks away, thinking the
company is delighted to hear him or her whereas everyone is really exhausted and angry.
Don’t think you can say unpleasant things about someone behind his back and not be
found out. It is surprising how the remarks usually find their way to the person with your
name attached, so to speak Whatever you say, always assume that the person may
overhear, and modify your remarks accordingly. All experienced people act in this way.

a) In the conversation you should not be speaking most of the time because you will be
considered

i) good person ii) intelligent person
iii) bad person iv) mannered less person
b) If two of you are engaged in conversation, you should allow your companion to take
i) one third of it ii) full of it iii) half of it iv) none of it
c) If the other person in your company does not talk, he might want
i) you to talk ii) you to listen
iii) other to talk iv) you not to talk either

d) You should not say unpleasant things about someone behind his back because person
may

i) not hear it ii) modify it iii) enjoy it iv) overhear it

e) The foolish thing about the behaviour of a person who talks away all the time is that they
think company is to hear him/her

i) exhaust ii) surprised iii) angry iv) delight



SECTION-B
Q2. Identify the kinds of sentences:
a) Who is your class teacher?
b) Try, Try again, till you succeed.
Q3. Circle the subject in given sentences:
c) Kolkata is the Capital of West Bengal.
d) Do not pluck flowers.
Q4. Rearrange the groups of words to make meaningful sentences:
a) are/so/careless/Why/you
b) home/before/come/ sunset
Q5. Rewrite the sentence changing the gender of the nouns:
a) I will be meeting my sister this afternoon.
Q6. The plural of:
a) Army is
Q7. Rewrite the sentence by using ¢ or ‘s:
a) The dress of the baby is pretty.
Q8. Fill in the blank with suitable collective noun:
a) A of sheep.
Q9. Write a paragraph on ‘India of my dream’
SECTION-C
Q10. Read the given extract and answer the questions:
a) The morning and the sunset
That brightens up the sky.
He gave us eyes to see
And lips that we might tell
How great is God Almighty
Who has made all things so well.
a) What brightens up the sky?
b) Who had made all things so well?
c) Write the opposite of sunset.
b) Across the window pane
It pours and it pours;
And swift and wide,
With a muddy tide
Like a river down the gutter roars

The rain, the welcome rain.



a) What does ‘it’ refers to?

b) Pick rhyming word for ‘tide’

c) The poet compared the sound of gutter with.
Q1l1. Answer in a sentence:

a) Give the name and occupation of Yudhishthira.

b) Who could not pay his debt?

c) What do you mean by the term ‘to pass out™?
Q12. Give one word for the following:

a) A vehicle on runners for travelling over snow or ice, pushed, pulled or allowed to slide
downhill

b) Requirements or conditions laid down or agreed upon

c) A two- wheeled horse-drawn vehicle, used in ancient warfare

Q13.Answer the following questions:
a) Write one special quality or skill of each of the Pandavas.

b) What were the terms and conditions of the game of dice that the two sets of cousins
had played?

c) Where did Buck live?

d) Why did the strange man say, “I wouldn’t do it again for a thousand!”?

kkhkkhkkhkkhkkhkkhkk



A9 : 3 He

Afrswr Frellar wR>F af¥awr - 1, 2018-19

Fe&T : gredr
fawar =l

LM

¥ .1 @ RE v aggmer #F qea oAl F w@ 39 fAf@v -

(i)

()
(iii)

()
(iii)

(i)

2
(ii) (iii)
2
(ii) (iii)
?
(i)
(VLM LM
?
(ii)
(iv)
(ii) (iii)

¥.2 Y fRw v gezmer & gt WAl F wd 39 faf@v -

Hed o Us

FA HF : Yo
)

(iv)

(iv)

(iv)



&)
)
R,
)
%)
)

|
.

@) L
) -
R,
)
8)

M

?

(ii)
(ii)

(ii)
?
(ii)

?

@iy ’

?

?

(iii)

(iii)

(iii)

(iii)

(iii)

g
s "
-
CICT ]
TH
3reqar
T& Ueq
I & 3T
af &
T2
T
3
9.

?

(iv)

(iv)

(iv)

(iv)

(iv)



9.5 3T o 5T A Bl FAlST HAT a6 o ?

s ‘T
Y6 TH aFT H 3 &
1 ?
2 2

3. U F Wl F& for@l :

9.7 Red Tuer Ry :
() 2P — |
(ii) , e — |

7.8 ‘Il TN F AR - 39 vy w 70-80 weal H vw efeoq foa |

kkkkkkkkkkkk



Rzl G-a B~ ACAQ@t «
K«@ézalbO~«2¥ IIRWE a O©{ e
aTWONTf ¢ h
a @{3el a ©

PN

1. \z¢@4 i Gede |0 4P [ P my@ i d¥ x ¥ 2 Wve|f a2 8¥ g¥ A
OIS¥ a2z x«f |zCRpTOR%-Q-cchlX_ |Xz§2P0% ¢ 4 a0
HHGOAC " | YPPE@DTh XhxrE | ¥aKR {@x Ux ¢4 AP ¥AK | Ahf
v GAR |CE@a@pa | Z§DE L@ T GzaE |bpSd| [GoyPpal | E« |
b£G@@pa ;JQE£ Ta f K y©| p |al Lcap a2z x O]
(1) z@|@4 | tz&dapio; =
(2D £ 1 & cra ot QT
(SAE@a@pa at ¥do) *?
(4 GO QLG
(5)¥ cli@a2~[ U pE£xa a-bY]|

2. [ax@|@azd¥T@xed Zakz || o WD €a ki «?|falR0G¥(U ¥ « ¥ 7 {
do~eyZVTQUA | Dt 2 r|UKad| £PU%] WYP O kSe{ &
rAQRrart R{QU ¥ t 2 WWIBzfG¥2 2 |a2] O] |$A-[ B ¥ ¥ T @
t 2 Uadtor |S7Y 23] | efhaiteEDclyy [@ev@Vvity| ©h @ t 2
h¥a@{, | O{OCcE| | U ¥|Warfedesb®id €al ¥T@erv@VviNc[@
S¥«a~[ W@ @2h@we|2! ¥2 xf Ot2 ¢O0~0 X/
(1xcd Zat dz || @e?

(2)]©~  PeRE| 4 ¥ © ¥t A a®C?
(3) Bsdsd ~ a| ayeV@V 2P
(4a - t ?2x@Ct 2 3¢ P~© {© xfO©t2 ¢O©~O
(GT@E | rari i AR [ al O NP2

s &N
frs.ﬁ'&mma’f$mwammwm#é|

1Yt a2 z ta Ca G P'Ck GQ q@N s! 23| ©



2£ Cr ©q@ee.a.~2.h.[.

3 c¥i @Dal @b |«<?

4.9 b|«t22x@c 4 G CF e ~C«

5. alwkazd rbal rfal {Qep! T?

6.X0f2 WOtp«28y? Ai{© al|to© fO©! p2 |3

q4.ﬁ'#ms[ea?a:m#m#€lﬁm|
1x 0 f ¥M{@IX KOt @ f ©] p? la

2.Y a X & cl2p ©& 2zaaf x@pPR2 Q¥ t « A { ©
3.Qz| p al z©ON P2 U¥a2?2 Qv| ©s zOA A[A{"
4Qz | p | S¥x?2w| ¥2 d| A{D ~-k R]J
5.1 @C9@xXEHAQAR { © X p~©{ ©

6. c¥i @¥et T ~Eal i{ @AKo

s BTN
7y©ma© pqoO© P~2v a®© 2z~0t ag]||
y ©o © a~ay
YBp K « a
Ix chzb«
MR« ra2¢t ©c |
Qi r2¢t ©c |
8. toe ¥UeCOHg2r ag] [
()T 2.8
(D)MED......coo s
©C { @ i,
()5 2 TR
(B)A Z .
F)a @ €.
(0) 1, 1= o PSR
s mrN

Y9, ABIET Rar B $H {9 970 - 80ereal # v sryesq foray |

kkkkkkkkkkk



3ot ufees wper , Rewmrst arast
HINDI PRACTICE SHEET 3
CLASS -V

Duration: 90 minutes Marks: 40

Date: Time to

L M
¥ .1 @R RE v aggmer #F qea oAl F w@ 39 fAf@v -

¥.2 Y fRw v gemer & gt WAl F wd 3¢ faf@v -
f@etlerarer




) ?
[ ] [ ]
) - ?
[ ] [ ]
) ?
[ ] [ ]
) ?
[ ] ]
) ?
[ ] ]
s ‘@
¥3. f& 7T yeaY & 3R TS Usq HUAT U I H & |
#F) L , M ?
@ L M ?
ML - M
)
3 L M
) ?

4. B 71T geaAl F 39T AT H A5 |
F) L M ?
@) L M ?
M) - ?

JUo o



) ?

) ?
5. $0G 1 G FAIS @R Al T FAT groid §§ ?
s ‘T
¥6. 39YFd Asq A Wl TU o1 -
) |
) e I
¥7. WE T W IHEAR UG HATASF AT |
)
.;;..Jff\\\\f

g8. IfAwMY e & fhawt oig § ? Al & A AT |
s ‘T
¥9. ‘M B Rare - 0 Awr 9w 70-80 ewsal # v epe=ade faat |

*kkkkkkkkhkhkkhkhkhkk



3ot ufees wper , Rewmrst arast
HINDI PRACTICE SHEET 4
CLASS -V

Duration: 90 minutes Marks: 40

Date: Time to

LM

¥ .1 @R RE v aggmer #F qea oAl F w@ 39 fAf@v -
|

) ?
[ ] [ ] [ ]
) ?
[ ] [ ] [ ]
) ?
[ ] [ ]
) ?
[ ] [ ]
) ?
[ ]
[ ]
[ ]

¥.2 Y fRw v gezmer & gt WAl F wd 39 faf@v -



K) ?

[ ] [ ]
k) ?
[ ] [ ]
K) ?
[ ]
0) = ?
[ ] [ ]
i) ?
[ ] [ ]
s ‘@
¥3. R 1T yeall & 39X UF Ueq IHYUAT Uk 99T H & |
#) L M ?
@ L , M
ML - M - ?
) L M ?
3) ?
) ?
4. f&d T et & 3R FAT H N |
#) L M ?
@) L , M
M) ?
) ?
) ?
95. 3 A SHT I Bl FAlT A HTAT HHST FAT dgo off ?
s ‘T

¥6. 3UYFd UsE W WIel T IR -
) I
) -




¥7. W TUT W HEAR TG IHAAH ooy |

¥8. el orsg & fhaat AT § 2 A &F a7 o |
s ‘'
¥9. A B RAwa - 57 {wr w 70-80 ersal &1 vs eaq fAat |

L AL LA L L L]



ARMY PUBLIC SCHOOL BINNAGURI

MATHEMATICS PRACTICE SHEET -1, SESSION 2018-19

CLASS:V

TIME: 90 MINUTES MM: 40
Date: Duration: to
Q1. Fill in the blanks:

i) The greatest number of 6- digits using 3, O and 5 is

ii) Place value of 7 in 403270 is

iii) Ninety lakhs = million.

iv) 867055 + 6983459 =

v) 30 X 49 =49 X
Q2. Choose the correct option:
i) 1 less than 18,800 is

(a) 19,870 (b) 17,990 (c) 18,799 (d) 18,899
ii) No. of 5 digit numbers are

(a) 70, 000 (b) 80,000 (c) 20,000 (d) 90,000
iii) The difference between 97,77,777 and 70,00,000 is

(@) 1,11,111 (b) O (c) 2,22,222 (d) 27,77,777
iv) Round off 95,321 to the nearest ten thousand

(a) 100,000 (b) 45,000 (c) 40,000 (d) 44,000
v) 0 X 1 is equal to

(a) 973040 (b) O (c) 1 (d) 97304

Q3. Do as directed:
i) Arrange in ascending order:

340999, 349901, 2200091 and 218001
ii) Complete the sequence given below:

3, 10, 17, 24, 31, ,

iii) Write 9765478 according to international system of numeration.

iv) Write 9000000 + 50000 + 500 + 9 in short form.

v) Write the equivalent Roman numeral of XC — XIX =

vi) Find the difference between 4533009 and 678006. Write the number sentence.

vii) Frame word problem/(or write a story) for 13,40,450 + 40,000.

viii) Multiply 399 by 300 and write the product in words.

ix) Find the product of 4536 X 0 X 500 and also write the number sentence.



Q4. Answer with statements:

i) Sheetal packed 50 chocolates in a box. She has 865 boxes. How many chocolates
does she need to fill all these boxes?

ii) Write the greatest and smallest numbers of 6 digits by using 2, 3, 0, 5, 4 and 6 only
once such that the digit 6 always appears at the tens place.

iii) In one year, the states of Punjab, U.P. and M.P. produced 1389035, 6707890 and
454500 bags of wheat respectively. Find the total number of bags produced by these
three states.

iv) What should be added to 2456009 so that the sum becomes 3000000?

v) Ankita brought 315 tables. The price of a table was Rs. 150. She paid Rs. 50,000 to
the shopkeeper. How much money will she get back?

vi) a) How many numbers have seven digits?

b) A factory produced 869555 bulbs in first week and 70000 bulbs more in second
week than in first week. In the third week due to some reason it produced 25000
bulbs less than in the second week. How many bulbs did it produced in these three
weeks?

Q5. Solve:

i) By using 0, 3, 1, 4 and 6 write the greatest and the smallest number of five digits. Also
find their difference.

ii) A bus carries 57 passengers in a trip. How many passengers will it carry in one year if
it makes 6 round trips everyday? (One year = 365 days)

XXXEEEEEEXXX



ARMY PUBLIC SCHOOL BINNAGURI CANTT
PRACTICE SHEET 2
SUB: MATHEMATICS

CLASS YV
1) Fill in the blanks
i) %of 1 kg =
ii) X is subtracted from and C only.
iii) One million = thousand.

iv) 14 thousands more than 754689 .
v) The product of a number and O is
2) Choose the correct option.
i) The Product of 46,230 and 79 is not the same as

(@) (46 X 230) X 79 (b) 540 X 79 (c) (46 X 79) 230
ii) Round off 467895 to the nearest lakh.
(&) 500000 (b) 460000 (c) 400000
iii) The estimated sum of 64245 and 78563 is
(a) 100000 (b) 140000 (c) 960000
iv) One million nine thousand thirteen is
(a) 1900013 (b) 1090130 (c) 1009013
v) The successor of 899999 is
(a) 8900000 (b) 900000 (c) 1000000

3) Do as directed
i) 10 pens cost Rs 256. Find the cost of 1 pen.
ii) Complete the sequences given below.
19045,19090,19135,
iii) Write the greatest and the smallest numbers using the following digits only once.
4,0,2,8,9,1
iv) Find the place value of 4 in 746512 both in figures and words.
v) Write the following numbers in figures.
a) Seventy lakh three thousand twelve.
b) Nine million fifteen thousand four hundred two.
vi) Add 278 8 2 402
+ 498065
2082
vii) Find the difference 5000124
- 238737

viii) Multiply : 4209 X 7546
ix) Find the product of 214x 0 x 4578
4) Answers framing statements, wherever needed.

i) Puja bought 18 chocolates, 9 ice creams and distributed equally among 3 friends. How much
each got?



ii) Write the following in Hindu Arabic numerals

a) XCIV
b) LXXIX

iii) Write the following in Roman numerals:
a) 84 b) 99

iv) Look at the pattern and write next two terms
a) 164723, 164823 , 164923, ,
b) 627509 , 627304 , 627099 ,

v) Find the actual and estimated difference of 678498 and 4670439 by rounding off to
the nearest lakhs

vi) Find the continued product and write the result in words.
3729 x 57 x 12

5) Solve
i) a) There are 473 oranges in a box. How many oranges will be there in 876 such
boxes?

b) A bus can carry 52 passengers in a trip. How many passengers will it carry in one
year if it makes 4 round trips every day?

ii) Frame word problem for the following number sentence.
a) 280915 +894 =7?
b) 387619 - 25700 = ?
iii) Write 6 — digit greatest and smallest numbers by using the digits 3, 0, 5.
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1) Fill in the blanks
i) 2€ of 10 kg =

ii) Fifteen thousand nine hundred fifteen is .
iii) The number with more digits is the number with less digit..

iv) In reading of numbers ,the first period consists of three digits called the

v) The product of a number and is the number itself.
2) Choose the correct options
i) The predecessor of 4567 is .
(a) 45678 (b) 4566 (c) 4568

ii) In international system 1 lakh = .

(a) 1000 (b) 1million (c) 100 thousands
iii) 352080 is rounded off to to the nearest lakh.

(a) 35000 (b) 360000 (c) 350000
iv) Choose the correct one

(@) 15 x12=12x 13 (b) 458 x 1 =458 (c) 2917 x 0 = 2917
v) In the question 6823812 — 5317903, identify the subtrahend.

(a) 5317903 (b) 6823812 (c) 1505909

3) Do as directed
i) Write the numbers in figures and in words

i1

T (1]

ii) Study the pattern and write next two terms:
1, 4,7,10, 13, , .

iii) Write the greatest and the smallest numbers of the following
9323562, 2897050 , 99999 , 999999

iv) Write the following in numbers (international system)

a) Three hundred four thousand two hundred and nineteen.

b) Two million six hundred two thousand three hundred and eighty.
v) Write down the prime numbers from the following.

13,23,25,77,96,83,94,061.

vi) Add 2882777



+ 598765
702081
vii) Find the difference 8023425
- 648930

viii) Multiply 237 6
X 98
ix) Find the product of 309 x 56789 x 0.
4) Answer framing statements, wherever needed

i)

a) What will be the time after 3 hours 10 minutes?
b) What time was it before 3 hours 30 minutes?

ii) Arrange the numbers in ascending and descending order.
66666 , 666666 , 66606 , 6666666 , 606666.

iii) Write the following in Roman numerals:
a) 80 b) 89 c) 75 d) 98
iv) Find the difference between 6823812 and 5317903. Check your answer.

v) A school needs Rs 4987653 for its building. It has only Rs 3592468 in its accounts.
Estimate the money by rounding off to the nearest lakh it needs, still to raise.

vi) Find the continued product and write the result in words.
3729 x 57 x 12

5) Solve
i) Replace the * in the following by correct digits
3*67*
x 1*6

ii) Frame word problems for the following number sentence.
a) 530219 + 87100 =7?
b) 265000 - 257819 = ?
iii) Write 6 — digit greatest and smallest numbers by using the digits 2,6 ,9,0.
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Q1. Fill in the blanks:
i) 1 Million = lakhs.
ii) 450x29 =( + ) X 29.

Q2.

Q3.

Q4.

iii) The greatest number of 5- digits using 2, 0 and 8 is
iv) Place value of 3 in 273040 is
v) 955698 + 6703458 =
Choose the correct option:
i) 1 more than 17999 is

(a) 18000 (b) 17,990 (c) 17,798 (d) 18,001
ii) The Roman Numeral for 79 is

(a) LXXXIX (b) XXXCIX (c) LXXIX (d) ILXXX
iii)The difference between 97,77,777 and 70,00,000 is

(@ 1,11,111 (b) O (c) 2,22,222 (d) 27,777,777
iv)Round off 95,321 to the nearest ten thousand

(a) 100,000 (b) 45,000 (c) 40,000 (d) 44,000
v) When a number is multiplied by 1, the result is

(@) Number itself (b) 1 () O (d) None of these
Do as directed:
i) Arrange in ascending order:

230999, 449901, 9122000 and 800121

ii) Write 6-digit smallest numbers by using the digits 1, 8, 5, 0, 2.

iii) Write the greatest and smallest numbers of 6 digits by using 2, 3, 0, 5, 4, 1 only once such
that the digit 4 always appears at the hundreds place.

iv) Write 49230039 in expanded form.

v) Write the equivalent Roman numeral of XCI-XLV =

vi) Find the difference between 4525321 and 231245 Write the number sentence.
vii) Frame word problem for 250020 + 312002.

viii) Multiply 531 by 2583 and write the product in words.

ix) Find the product of 1223 x 3809.Write the number sentence.

Answer framing questions wherever needed:
i) The product of two numbers is 2317756. If one of the numbers is 826, find the other number.

ii) Write the greatest and smallest numbers of 6 digits by using 4,3,0,8 and 6 only once such
that the digit 4 always appears at the hundreds place.

iii) In one year, the states of Punjab, U.P. and M.P. produced 1389035, 6707890 and 454500
bags of wheat respectively. Find the total number of bags produced by these three states.

iv) What should be added to 2456009 so that the sum becomes 3000000?



v) Ankita brought 315 tables. The price of a table was Rs. 150. She paid Rs. 50,000 to the
shopkeeper. How much money will she get back?

vi) Write 6-digit, greatest and smallest numbers by using the digits 8,0,2,3

Q5. Solve the following:

i) Look at the patterns and write next three numbers:
(a) 535703, 545703, 555703, , ,
(b) 1128596, 1328596, 1528596, ,

ii) In a garden, there are 403354 plants in 329 rows. If each row has the same number of plants,
how many plants are there in 115 rows?

iii) Fill in the boxes and check your answer:

(+) 5635 P (-) 2312

137869

P+)550 l(+)3815

i -) 6705
| [ 988 L
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Q1. Fill in the blanks :
1) The bones and the head make the

2) The backbone also known as the

3) Plants that have strong , thick woody stem are known as

4) Carbohydrates are also known as food.

5) Fats help to keep us

Q2. Answer in one word :
a) The undigested food is thrown out of our body through
b) Two pairs of the lower ribs are not attached to the chest bone are called.
c) Plants which have green and soft stem are known as
d) Lack of iron in the body causes

Q3. Tick the correct answer:
a) The teeth which help us to cut and tear the food

i) Incisors ii) Canines
iii) Premolars iv) Molars
b) The bones in the spine are called
i) Cartilage ii) Ribs
iii) Vertebrae iv) Bone marrow
c) The thick outer covering which protects the seed is called
i) Carpel ii) Seed coat
iii) Cotyledons iv) Main vein
d) The mineral which helps in making bones and teeth strong is
i) Calcium ii) Iron
iii) Mica iv) Haemoglobin
e) Night blindness is caused due to lack of
i) Vitamin C ii) Vitamin E

iii) Vitamin A iv) Vitamin B

Q4. Answer in one sentence:
a) What is circulatory system?

b) What is large intestine?



c) What is cartilage?
d Which is the smallest bone in human body ?
e) What is the name of the green substance present in the green leaves?
f) Why the leaves are known as kitchen of a plant?
g) What is roughage ?
h) What causes night blindness?
Q.5 Answer in brief:
a) What is a joint? Name the different kinds of joints.
b) Why are there 26 vertebrae in an adult spine?
c) What is germination? What are the conditions required for it?
d) Why do we need water in our body?
Q.6 Answer in detail:
a) Why do we need Fore Limbs and Hind Limbs?
b) What would happen if there are no trees on the earth?
Q.7 Draw and label:
a) Digestive system

b) Parts of a flower
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Q1. Fill in the blanks

1) The process of digestion starts from the

2) The average heart beats about times per minute.

3) The female part of the plant is known as

4) Malnutrition usually occurs in children at the age of

5) Eating too much fatty and oily food leads to
Q2. Answer in one word :
1) The pipe that takes down the food to the stomach.

2) Help in the movement of bones by contraction and relaxation.
3) The thick outer covering which protects the seed.
4) Disease in which a person loses lot of water.

Q3. Tick (0) the correct answer
1) Which organ supplies blood to the body

a) Heart b) Lungs
c) Stomach d) Mouth
2) Muscles are attached to the bones by strong tissues known as
a) Vertebrae b) Tendons
c) Ligaments d) Muscles tissue
3) The part of the plant which absorbs water from the soil
a) Stem b) Seeds
c) Leaves d) Roots
4) Proteins are also known as
a) Protective foods b) Body building foods
c) Energy giving foods d) Starch and fatty foods
5) Deficiency of iron causes
a) Bow legs b) Swelling in gums
c) Numbness in hand and feet d) Anemia

Q4. Answer in one sentence :

1) What are external organs ?

2) What is Salivary gland ?

3) Which is the smallest bone in our body ?
4) How many bones does the skull have ?

5) Who stores food for the embryo ?

6) What is stomata ?

7) Which makes our bones and teeth strong ?



8) What is starch food ?
Q5. Answer in brief :
1. How do muscles work ?
2. What is the function of the rib cage ?
3. How do leaves breathe ?
4. What is a balanced diet ?
Q6. Answer in detail :
a) What would happen if there no biceps and triceps in our body ?
b) Why do we need to conserve plants ?
Q.7 Draw and label :
a) Circulatory system
b) Germination of a seed
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Q1. Fill in the blanks:
i) transports blood to all the parts of body.
ii) The bag that stores urine is called
iii) Leaves are also called of the plant.
iv) are called energy giving foods.
v) Lack of causes night blindness.
Q2. Choose the correct options:
i) There are 16 teeth in the of an adult.

(a) tongue (b) salivary glands (c) food pipe (d) upper jaw
ii) The smallest bone in the human body is known as

(a) vertebra (b) staples (c) cartilage (d) femur
iii) Female reproductive part of a flower is called

(a) carpel (b) pollination (c)stamen (d) root
iv) The minerals which helps in making bones and teeth strong is .

(a)calcium (b) iron (c)mica (d) haemoglobin
\Y| helps in regulating the temperature of our body.

(a) vitamins (b) minerals (c) water (d) protein

Q3. Answer in one word:

i) Which organ system is responsible for removing waste from the body?
ii) How many vertebrae are there in an adult spine?

iii) Name two plants whose seeds are dispersed by explosion.

iv) Name the disease caused by the deficiency of iodine.

Q4. Answer in one sentence:

i) Write the function of tongue.

ii) Define respiratory system.

iii) What is muscular system?

iv) What is the function of skull?
v) What is germination?

vi) What is fertilization?

vii) Write the symptoms of obesity.
viii) What is a balanced diet?

Q5. Answer in brief:
i) What are movable joints? Give examples.
ii) Write two functions of bone.



iii) Write the functions of leaf.
iv) Why vitamins and minerals are known as potective foods?

Q6. Answer in details:
i) Teeth play an important role in our day to day life. Give reason.
ii) Roots of a plant prevents soil erosion. Give reason.
Q7. Draw well labelled diagram of:
i) Respiratory system.
ii) Parts of flower.
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I. FILL IN THE BLANKS

1. The female part of the plant is known as the ........................
Milk can be preserved by ............c.ceeee.
Eating too much fatty and oily food leads to .......................
The organs that we are able to see are called ....................

W

. The process of digestion starts from the .....................
II. MULTIPLE CHOIVE QUESTIONS
1. Bones in the spine are called:
a. Cartilage (c) Vertebrae
b. Ribs (d) Bone marrow
2. Which organ supplies blood to the body?

a. Heart (c) Stomach
b. Lungs (d) Mouth

3. Grape vine is an example of a:
a. Tree (c) Climber
b. Herb (d) Shrub

4. Night blindness is caused due to the lack of:
a. Vitamin c (c) Vitamin b
b. Vitamin a (d) Vitamin e

5. Deficiency of Iron causes:
a. Bow legs (c) Numbness in hand and feet
b. Swelling in gums (d) Anaemia
III. ANSWER IN ONE WORD
1. Name the gland that produces saliva.
2. Which is the smallest cone in our body,
3. What is the male reproductive part of the plant called?
4. Which food contains the right amount of nutrients?
IV. ANSWER IN ONE SENTENCE
Why leaves are called the food factory of the plant?
Define Vegetative Propagation.
What is a Balanced Diet?
Why are carbohydrates and fats called energy giving foods?
What is the skeletal system?
Why are there 26 vertebrae in an adult spine?
What is Respiratory system?

NGk =

Name the different types of Organ Systems.



V. SHORT ANSWER QUESTIONS
1. What is Malnutrition? How is it caused?
2. What is germination? What are the conditions required for it?

3. Write the difference between movable joints and immovable joints.
4. What is the function of the cartilage?

VI. HIGHER ORDER THINKING SKILLS

1. What would happen if there are no plants on the Earth?
2. Ram, while skating, fell down and broke his forearm. The doctor plastered his broken
forearm. His broken forearm was in plaster for 6 weeks. How did the plaster help to

join the broken bone of the forearm?

VII. DIAGRAMS
1. Explain the process of photosynthesis with the help of a diagram.

2. Draw a neat labelled diagram of the excretory system.
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A. Answer in one sentence.
Which technology was used in first generation computer?
Write the name of first commercial computer for business client.
Write a high level language name which was used in third generation computer.
Which language has instructions similar to English language?
Which language was developed by IBM in the mid 1950s?
Group: B

b

B. One word Answer

Which language called fifth-generation language?

What is the another name for computer programmer?

Which language is also called source program?

In which year second generation computers were introduced?

ok b

Write one example of first generation computer.
Group: C
C. Answer the following Questions in a sentence or two.

Write difference between first and second generation computer.

Write two features of third generation computer.

® N

Write and explain any 2 high level languages.
4. Write the use of natural language.
D. Answer the following Questions.

1. Rohan written a program in assembly language. He wants to use that program in three
different computers. Is this possible to use the same program written in assembly language in
different computer? If it is not possible then which language Rohan should use?

2. Laxmi brought a new laptop which has I3 processor. Which generation computer she
purchased? Write two features of this generation computers.

E. Answer the following Questions in detail.

a) What do you mean by generation?
b) Write about fifth generation computer.
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QA. ANSWER IN ONE SENTENCE

1. What is microprocessor?

2. What is PROLOG?

3. State one feature of Second generation Computer.

4. Write the main goal of Fifth generation Computer.

5. What do you understand by Machine language.

QB. GIVE ONE WORD ANSWER

1. Intel 4004 is an example of which generaion computers.
2. The first generation computers started in which year?

3. Which language is used in third generation Computer?
4. Which converts assembly language into machine language?

5. Which language processor converts the entire HLL Program into machine language at
once.

QC. ANSWER THE FOLLOWING QUESTIONS
1. Write the full form of
a. IBM
b. HTML
2. Explain Assembly language with diagram.
3. What is generation? Write the drawbacks of first generation computer
4. What do you understand by Artificial Intelligence?
QD. ANSWER IN DETAIL
1. Explain Interpreter. What is BASIC?
QE. APPLICATION BASED QUESTION
1. Name the devices used in first to fourth generation.

2. Suppose you have written a program using high level language and want to convert it
into machine language, in order to remove the error. What are your options?
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